
Compare and order fractions worksheet 2 answers 

Answers:   

1. a) 1
6

< 3
6
 

         Top bar: 1 part shaded.  

         Lower bar: 3 parts shaded.  

    b) 2
3

> 2
6
 

         Top bar: 2 parts shaded.  

         Lower bar: 2 parts shaded. 

    c) 4
5

> 3
5
 

        Top bar: 4 parts shaded.  

        Lower bar: 3 parts shaded. 

    d) 5
8

< 3
4
 

        Top bar: 5 parts shaded.  

        Lower bar: split into quarters, 3 parts shaded.  

 

2. a) 2
5

> 3
10

  

        Max has run farther.  

    b) No, no one is in the lead as 8
10

 is equivalent to 4
5
 . 

 


